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7 9 63,333
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24.7 km? 52 m
351m
96km? 25.4km
9.0km?
m
11.6 km? 4.8 m
( )
1
1,200
(mm)
11.3 33.6 -6.4| 1,597.0
10.8 34.2 -6.9 1,011.0
10.4 28.9 -6.2 1,388.0
11.7 38.0 -7.8/ 1,076.0
11.1 34.5 -8.6 1,114.0
10.5 34.5 -9.6 1,103.0
11.3 33.1 -6.8 1,147.0
11.2 31.9 -10.5 1,581.0
11.8 35.1 -7.2 1,632.0
11.5 34.2 -8.7 1,222.0
11.2 33.8 -7.9 1,287.1
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10
(ha) 704 141 2,927 - 313 179 164 138 4,567
(ha) 743 431 | 11,148 98 589 303 224 554 | 14,090
(ha) 282 189 5,599 - 269 157 115 168 6,814
(ha) 1,447 761 | 19,674 98 | 1,171 639 503 860 | 25,471
6 3 77 1 5 3 2 3 100

2000




20
2-1
-1
(ha)

S56 | 8.21  8.21 88.30 0.10 88.40 1 0 1 0 0 1| 147,319
S56 | 9.23  9.26 110.30| 1.90| 112.20| 24 0 11 0 0 0| 9,880
S61|8.02  8.10 12.93| 7.89 20.82| 65 5 32 1 1 0| 201,463
H2 | 11 111 14.00| 0.14 14.14 4 0 4 0 0 0| 5,768
H10 | 8.25  8.31 40.00| 0.00 40.00 0 0 0 0 0 0| 28,339
H11 | 10.3 103 100.60| 0.76| 101.36| 71| 16 87 1 4 0| 161,723
H14 | 7.10 7.11 143.60| 0.57| 144.17| 20 1 21 0 0 0| 68,284
S56  H14 1,095.40| 11.62] 1,107.02| 197| 23| 167 2 5 1| 644,369
S56 | 8.21  8.21 7.80| 0.10 7.90 0 1 1 0 0 0| 2,435
S63 | 8.08  8.31 10.50| 0.42 10.92| 10 0 8 0 0 of 7,457
H11 | 10.3 103 0.00| 3.03 3.03| 72| 38 26 0 0 0| 175,329
Hi4 | 7.10 7.11 53.90| 4.00 57.90 10 3 13 0 0 0| 54,214
S56  H14 100.80| 7.65| 108.45| 93| 42 49 0 0 0| 239,977
S56 | 8.21  8.21 15.00/ 0.00 15.00 0 0 0 0 0 0| 19,425
S63 | 8.08  8.31 36.00| 0.00 36.00 0 0 0 0 0 0| 16,944
H11 | 10.3 103 0.00| 0.21 0.21 3 0 3 0 0 of 2,797
Hi4 | 7.10 7.11 27.00| 0.04 27.04 1 0 1 0 0 0 0
S56  H14 139.60| 0.26] 139.86 4 0 4 0 0 0| 44,355
S56 | 8.21  8.21 30.00 0.10 30.10 1 1 2 0 0 0| 40,176
H10 | 8.25  8.31 14,90 0.03 14.93 1 0 1 0 0 0| 62,726
H14 | 7.10 7.11 9.00| 0.00 9.00 0 0 0 0 0 0 0
S56  H14 55.20 0.13 55.33 2 1 3 0 0 0| 107,343
S56 | 8.21  8.21 53.00| 0.10 53.10 0 1 0 0 0 0| 72,802
S56 | 9.23  9.26 59.30| 0.60 59.90 8 3 11 0 0 0| 12,195
S61 | 8.02  8.10 42.70| 0.24 42.94| 16 0 8 0 0 0| 26,838
S63 | 8.08  8.31 87.50| 0.00 87.50 0 0 0 0 0 0| 51,990
H2 | 11 111 6.60| 3.80 1040 12| 16 26 0 0 0| 25,460
H3|6.02 808 0.81| 1.31 212 17 3 7 0 0 0| 10,223
H10 | 8.25  8.31 99.40| 0.02 99.42 1 0 1 0 0 0| 8113
H14 | 7.10 7.11 111.00] 031 11131 7 3 10 0 0 0| 6,984
S56  H14 608.71| 6.80] 61551 66| 26 68 1 1 4| 231,288
S61 | 8.02  8.10 11.98| 0.01 11.99 2 0 1 0 0 0| 6,764
S63 | 8.08  8.31 8.50| 0.00 8.50 0 0 0 0 0 0| 4,001
H3|602 808 13.50| 1.85 15.35 5 4 4 0 0 0| 6,894
H10 | 8.25  8.31 10.50| 0.00 10.50 0 0 0 0 0 0| 49,473
H10 | 9.14  9.18 2.00| 0.00 2.00 0 0 0 0 0 o 3,277
H14 | 7.10 7.11 7.00| 0.05 7.05 1 0 1 0 0 0 0
S56  H14 69.48| 6.80 71.39 8 4 6 0 0 0| 72,021
H14 | 7.10 7.11 47.00| 0.20 47.20 2 5 7 0 0 0| 7,865
S56  H14 47.00] 0.20 47.20 2 5 7 0 0 0| 7,865
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